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al calculalars an.l Statistical tables are permined.

PART A
(Shorl Answer)

I whai is meant by nomina scae ol measuremenl ?

2 Give the reationship behveen Al\rl, Gt\4 and HL4.

3. Give anyNvo measures ol Kudosis.

4. Whatdo you mean bycoenicenl oi range ?

5. Whal s m€anl by cutue lltting ?

6 Define conelalon

PART B
(shorl Essay)

Answerany 6 questions. l6x2=12)
7 Whal are lhe principle steps n a sample survey ?

8. Whal ls siralil ed samp ing ? Give ils advantages over SRS.

9. Deiine dsperson. What are the various measures ?

10. Explan Sheppard's co(eclon.
11. Difterenl ate between absolute and rclative nreasu.e ol dispersion

12. Deline pariia corelalon.
1 3. Deiine €g€ssion coeliicienls. How lhey are €lated to corelalion coetficienl ?

14. Whal are the various components ol atime se es?

(6r1=6)
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PAFT C

(Essay)

answer any 4 questions (4x3=12)

15. Fo. a d stibliion,lhe mean is 10, variance is 16, y,=+1and p,= 4.

Oblain lhe I rsliour moments aboLl origrn.

1 6. Show lhal mean devialion is minimum when lhe deviallons are measured

17. Show thal with usual noialions , = ": 
* oi ':"
26,a,

1 8' Why there are two regress on lines ?

1 L Whal are lhe propedles of rnovlng average melhod for finding the lrend ?

20. Del ne ndex nurnbers. G ve th e lormula ior Laspeyer's index num ber.

PAFT. D

iLons Essay)

Answerany2 queslons (2x5=10)

21 Expain sanrping and non samping effors

22. The scores ol two go iers lor 24 rounds were as iollows l

Golfer A . 74 75 78 72 77 79 7a A1 7d 72

Goller B : 86 84 80 88 89 85 86 82 82 79

Find wh ch goiier may be considered to be more consistenl.

23. A computer wh e calculaiing corelation coefl c enl between hro var abtes

X and Y lrom 25 pa rs oi obseruaiions oblained the lotowing resufts:

t! rr5 Lx'= 650,Iy = ioo.Il =460.txy =sos

Laler il is d scovered thal two obsetual ons (8 1 2) and (6, 8) arc misread

as (6, 1a) and (9, 6). Obla n th€ co(ecl correlation coefiiclenl.

2,i. Whai are lhe uses ol inder nrmbers ?


